Solve the triangle.
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Practice: Unit Circle

Find the exact value.
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Use the Law of Cosines to solve an
oblique triangle- no right angles
(SAS, SS3)

To find a side: To find an angle:
wsh= BrC-a>
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aZ="h?+¢c2-2bc cos A

b2=a?+ c?-2ac cos B i
c?=a’+b?-2abcosC 0sB= a¥C-b

o0C
= a’*rb’-c"’
Cog( aLind

Example 1: Use the Law of Cosines to solve the triangle.

a) ¢c=12cm,b=18cm,a=8cm

l. Find the Iarqaesf angle.
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2, Find the middle angle. 3. Find the 3rd angle.

R o e
ST~ sne- 19-13.17-33.0

A= M
@?ﬂa\z&\m
mLC= 33 o°




@ 1 q ® 180 -136.03-13.06

SN0 T (inzb= B
i lin)( 4 s ) 1)

.W#wa
b T

¢.) A=48° b =3, ¢c= |4

|, Find the 3rd side,
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2, Find the smallest angle. 3. Find the 3rd angle.
18.30
S T I%-48-10.63

Fand) i (3 Fmep): 12.20)




d,) B = 10°35", a=40, ¢ = 30
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Turn-in:
p.417 (10, 16)

HW:
p.417 (7-21, 31-37 odds)



